

Nama : Ilka Thalita Pratiwi

NPM : 2013022022

Kelas : B

Kuadrat $f : -bu^2$ dengan Pengaruh gaya gesekan be
bergerak vertikal keatas

$$\vec{v} \uparrow \quad \vec{g} \downarrow \quad \vec{p} \downarrow \quad \vec{f} \uparrow \quad \vec{z}_f = m \cdot a$$

$$\vec{w} \cdot \vec{f} = m \cdot a$$

$$-m \cdot g \cdot bu^2 = m \cdot a$$

$$\int_{v_0}^{v_t} \frac{dv}{-g - bu^2} = \int_0^t dt$$

$$\int_{v_0}^{v_t} \frac{dv}{-g - bu^2/m} = \int_0^t dt \quad \frac{dv}{-g - bu^2/m} = \frac{dv}{-g - \frac{b}{m}u^2}$$

$$\rightarrow -g - \frac{bu^2}{m}$$

$$-\frac{b}{m} du = dv$$

$$dv = \frac{m}{b} - du$$

$$\int \frac{1}{u} \left(-\frac{m}{b} - du \right) = -\frac{m}{b} \int \frac{1}{u} du = -\frac{m}{b} \ln(u)$$

$$\int_{v_0}^{v_t} \left(-g - \frac{1}{6}u^2/m \right) du = \int_0^t dt \quad -g - \frac{1}{6}u^2/m = -g - \frac{1}{6} \frac{m}{m} u^2$$

$$-\frac{m}{6u} \ln(u) = t$$

$$-\frac{m}{6u} \ln \left(\frac{g + \frac{1}{6}u^2}{g} \right) = t$$

$$-\frac{m}{6u} \ln \left[-g - \frac{bu^2}{m} \right]_{v_0}^{v_t} = t$$

$$-\frac{m}{6u} \left(\ln \left(\frac{-g \times bu^2/m}{-g \times bu^2/m} \right) \right) \Big|_{v_0}^{v_t}$$

$$-g - \frac{6v_t^2}{m} = e^{-6v_t^2/m}$$

$$-g - \frac{6v_0^2}{m}$$

$$-g - \frac{6}{m} v_t (-g - \frac{6}{m} v_0) e^{-6v_0^2/m}$$

$$v_t = -\frac{mg}{6u} - \left(\frac{-gm}{6u} - v_0 \right) e^{-\frac{6u^2}{m}}$$

$$F = -W$$

$$bu = mg$$

$$v_t = mg/bu$$

$$v(t) = v_T (v_T - v_0) e^{-\frac{6ut}{m}}$$

$$a(t) = \frac{dv}{dt}(t) = \frac{d}{dt} (v_t - (v_0 + v_T) e^{-6ut/m})$$

$$= -\frac{6u}{m} (v_0 + \frac{6u}{m} v_T) e^{-6ut/m}$$

$$a(t) = (-g - \frac{6}{m} v_0) e^{-6ut/m}$$

$$v(t) = \frac{dy}{dt}(t)$$

$$\int_{y_0}^{y^*} dy(t) = \int_0^t v(t) dt$$

$$y(t) = \int_0^t v_T - (v_0 + v_T) e^{-\frac{6u}{m}}$$

$$y(t) = (v_T t - (v_0 + v_T) (1 - e^{-6ut/m}))$$

$$y(t) = (v_T t - (v_0 + v_T) (1 - e^{-6ut/m})) - [(v_0 - v_T) (1 - e^{-6ut/m})]$$

$$y(t) = v_T t - (1 - e^{-6ut/m}) (v_0 + v_T)$$

$$y(t) = v_T t + m/bu (v_0 + v_T) (1 - e^{-6ut/m})$$

$$y(t) = v_T t - m/bu (v_0 - v_T) (1 - e^{-6ut/m})$$

$$a(t) = (-g - b v / m) e^{-b v t / m}$$

aproksimasi

$$e^x = 1 + \frac{x}{1!} + \frac{x^2}{2!} + \frac{x^3}{3!} + \dots$$

$$e^{-b v t / m} = 1 - b v t / m + \frac{1}{2} (b v t / m)^2 + \dots$$

$$y(t) = v_T t + \frac{m}{b v} (-v_0 - v_T) (1 - e^{-b v t / m})$$

$$y(t) = v_0 t + \frac{1}{2} \times \frac{b v}{m} - v_0 t^2 + \frac{1}{2} \times \frac{b v}{m} (-\frac{m g}{b v}) t^2$$

$$b \neq 0$$

$$y(t) = v_0 t - \frac{1}{2} g t^2$$

$$v(t) = v_T - (-v_0 + v_T) e^{-b v t / m}$$

$$v(t) = v_T - (-v_0 + v_T) (1 - \frac{b v t}{m})$$

$$v(t) = v_0 + \frac{b v}{m} \cdot v_0 t - g t$$

$$b = 0$$

$$a(t) = (-g - \frac{b v}{m} v_0) e^{-b v t / m}$$

$$a(t) = (-g - \frac{b v}{m} v_0) (1 - \frac{b v t}{m})$$

$$a(t) = -g + g \frac{b v t}{m} - \frac{b v}{m} v_0 \frac{b^2 v^2}{m^2} t^2 \cdot v_0 t$$

$$b = 0$$

$$v_t = -g$$